|
| =
| = ;
S 5 N : | P £z i B CONCEALED DOOR CLOSER INSTALLATION AND INSTRUCTION
rac < = =
- | 2 < L E s
(¢b) o < - < 3
— = ~ | E " 8 %o 8 1
— £ T |k o+ I | = £ 52 3 1. ACCESSORIES Q_—0 5. Installation Steps
~ = & %m | S s BEC . (LEFT-HAND DOOR AND RIGHT-HAND DOOR)
L2 & | g =I3 & 2
= e 3 z | 5% T334 e
P S S I = 2 5 = 8 T g (" ©BODY SCREW ST4. 8X 25 )
O S = 32 5 I 2 S 3 8 'i 5 S8 SCREW M5X 14
8 = | s = § 8 £ g | < SATOR
2 3 & = I ; E = B'g § k= BODY
o { g 3 | =< 22 8= =
—g -% % E“:g - I § 2 o = g = 7
S £ = = e — 3 8 2
= | 28 =S 35 NOTE:CLOSE THE UNUSED
T £ ﬂ? 1 | 2. E&E&& = TWO SCREWS IN THE BODY
+— = 7 ' g 8 RS =T CLOCK WTST.
-~ ° - | N
o0 S o z | /
el — |
e S k |
= — . 5 4 ™
| SLIDE INSTALLATTON
2 - Tt | g= @
= . 62 I ¥ £ S =
I LS -
| | S o SLIDE PALLET
6 | = @®__ SLIDE ACCESSORY
I STATOR ACCESSORY
5 = N | g NO ACCESSORY QUANTTTY SCREW M5 14
- AN | - s - d SCREN ST 825
= R & ¢ . ® STATOR 7 s
= 02 & I & |: = 5 T . \ LIDE py
Bb s € | - 2 ® SCREV
o= — 02 I ® SLIDE PIN 7
o | g ® SCREW \
_______ <= g T T T Iz g L } @CONNECTION OF BODY AND MAIN ARM &
o I - T &2 s o« 5 SRV IR ] SCREW SCREN M5 12
= Rk 0L = 2 S BESR8ESs ® GRSKET GASKBT
— 5 . ¢ . | 8 g 2883338 ® STATOR PALLET RIGET-EAWD DOOR  LEFT-EAND DOOR
Z @ | | & I = NS ITHRTR N Ty ® HEXAGON SOCKET SEREW M8 12
2 - r o TR | =3 o S ® SCREW ST4.8X 25 8
52 3| o ) | = ® SCREW M5X 14 12
- o
= & | - =
- 2 2. SPEED ADJUST y
= 6 o= D
= I U S————— N THS SECOND ADJUSTABLE
O, -r AST
i ~ = |% | =t é gt ADTUSTABLE (" @CONNECTION OF SLIDE PALLET AND MAIN ARM )
7 _ SCREW
%} _E, % NONN i — Sj r THE SECOND ADJUSTABLE RANGE
o pm—{ - o
: =<D I (@b °r— I—@
i
S % 4 y @ 4 . i z "E :|| \_THE FIRST ADJUSTABLE RANGE SCREN
+ N S D
> © I
S8 ¢ N o > 3. OPENNING DEGREE (STOP DEGREE)
—_ a8 < 3 o S < < J
s B | - ]
S g Al o o 4 ™
S 2 7 1 - = S — E@F
= 2 . . = 4.Hold Open angle ©ADJUST OF CLOSE
= o & 3 | < - . SPEED
= 5 & = §w 2w ad justment
Dt — | -
= = 2 A @ = = | | - NC= SO s
4I_) ‘.2 < g o o I ';l 46_.; NOTE: TighteN\l® Y A 7
== o - = 2 g OPEN THE DOOR TO THE DEGREE \ \ \
m
— = [ ] NEEDED, FASTEN THE SCREW.IF IT  guoolwuer pmdmmowr sdsem  \_ y
, - I IS NON-HOLD OPED (STOP), LOOSEN T
N o S e THE SCREV.
O <
= = g
|

K [&LQ}D SUEHEDR] (EGEE ) MERYT : 4207288mm(FH) IR : KEINFF 103 ZEXiBAH 530i8%1 2023-09-07 [



320

Right-Hand Door Installation

s

320

Left-Hand Door Installation

4 frame

Heat insulator must be able to keep in 1/2 hour,

—— T N—
4==°—\I_U—
HE "
om
SN\
N’ E
IS &N
jg% > i :_"'_
‘ T@ | ‘ -
S
| S RN
g |4 || 5
| afii
' tn
= | & =5 | 0 I
j S 3 &
=] ‘ 7}$} =
|
|
3 |
g !
A |
— |
|
Tt &
i
/ ! o
62
I ol L |
59 |
[ @ = 3 l
+~ = o T\ 0 |
. My 9 &
bo G [N \|
o r— LJ| m
(' T £
= 0z
<o 3
& <| & v E
= \i
hffg S K co{ EZ‘ 'S] FS
% T Wl m
E an! 59 |
O |
=| S ol ZL !
m |
= |
[ 67 |
| Y '
-~ |
|
) |
~ |
© |
|
|
|
= | §$f
7|
& I © o
R -
| 7
|
|
O ~x | O
& = | T
|
| w©
@ Sy
e |
‘ |
%
oN

' ts.

lon requiremen

while meeting fire—prevent

Gently adjust two valves until satisfactory,while two other

invalid valves must be closed before installation.

. Vidth is only 32mm, suit for all kinds doors' installation.

. Specially designed for both Left-Hand Door an Right-Hand Door.
. Two separate valves with adjustable closing&latching speed.

NR
" &
o X
>
NN
1
LN =]
N =
1
[t
(e}
or—
—~ w2
O [
+ («b]
= B S
o
Z2 S 833
[ an v
— 5 BEX
(q] —
D or—
_— Y

—

®

——

. Optional Hold-open or Non-Hold-open.

~—

(@)

()

[

[

D

Ay )

(@)

(=)

=

~

(@)

(@]

[

—

(aw]

<+

D

—

s § §
X X X
2 %3
4 & &

L

CONCEALED DOOR CLOSER INSTALLATION AND INSTRUCTION

1. ACCESSORIES

NO ACCESSORY QUANTITY]
® BODY 1
® STATOR 1
® ARM 7
©® SCREW 7
© SLIDE PIN 7
® SCREW 1
® SLIDE RAIL 1
SLHE PALLET ”
® SCREW M5 X 12 1
® GASKET 1
® STATOR PALLET 1
® HEXAGON SOCKET SEREW M8 X 12 7
SCREW ST4.8X25 3
® SCREW M5 X 14 7

2. SPEED ADJUST

\_THE FIRST ADJUSTABLE RANGE

N,

3. OPENNING DEGREE (STO

DEGREE)

P
=

RIGHT-HAND DOOR

THE SECOND ADJUSTABLE RANGE
)
THE SECOND ADJUSTABLE RANGE K = \

Sy
i

5. BODY INSTALLATION FOR LEFT-HAND
%—® DOOR AND RIGHT-HAND DOOR

LEFT-HAND DOOR

4. Hold Open angle adjustment

&

N

\&?‘Loose &

NOTE: Tighten )

/

OPEN THE DOOR TO THE DEGREE
NEEDED, FASTEN THE SCREW. IF IT
IS NON-HOLD OPED (STOP) , LOOSEN
THE SCREW.

STATOR PALLET

ADJUSTING NUT

SLIDE PIN

(weak-{_J+strong)

/" OBODY SCREW ST4. 8X 25
INSTALLATION SCREW M5 14
SCREW M5X 14
SATOR
BODY
NOTE: CLOSE THE UNUSED
TWO SCREWS IN THE BODY
CLOCK WTST.
.
/

@SLIDE INSTALLATION

SLIDE PALLET
@ _ SLIDE ACCESSORY
\___ STATOR ACCESSORY

AN SCREW M5%14

AESCREW ST4. 8 X 25
SLIDE

3CONNECTION OF BODY AND MAIN ARM

SCREW SCREW M5X12
' GASKET

A \;
3‘)21
%

@CONNECTION OF SLIDE PALLET AND MAIN ARM

SCREW

SCREW —/!5
(N

-

®ADJUST OF CLOSE

SPEED

B0 WEER (EGES) RRRY : 420°288mm@E)  HERYT : AR

103 EXZHBEP 46084 2023-09-06 | F



	103 - 530
	页 1

	103- 460
	页 1


